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4. How does Russell establish our knowledge of physical Time : Two Hours Full Marks : 30

objects through knowledge by description? Explain his Answer either in English or in Bengali.
view “All our knowledge rests upon acquaintance for its

. 1. “The real table, if there is one, is not immediately known
foundation”. 10+5=15

to us at all, but must be an inference from what is
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of Bertrand Russell’s distinction between appearance and

reality. 15

5. “The real table, if there is one, is not immediately
known to us at all, but must be an inference from what
is immediately known”— e @ AW [RIW GO
AR IS@3 “fFcere sitdte awT ara F91 Se

Or / o<}

2. Explain the grounds of Berkeleyan idealism. How does
Russell refute this view? 15
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3. Explain Russell’s view on the nature of matter. How is
the scientific approach to matter different from Russel’s
approach? Discuss. 10+5=15
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